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Mohit.. 21 hours ago
Thank-you madam for today's very Amazing Class Session..

And
My Answer for today's Homework is like-
D(-)<—>B(+)..

Read more

oy &R REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

debasish chakraborty 15 hours ago

Homework :
4 female 3 male
Thank you sir. Awesome session.

ay &R REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Sonam Pundir 22 hours ago

Hw ans. Male~ 3
Female~4

Thank you mam for nice session @ @

ay &R REPLY

« View reply from Mahendras : Online Videos For Govt. Exams

Nabanita De 17 hours ago
H.W-Male-3,Female-4.Thank you ma'am.

gy GF REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Shubham jatwa 20 hours ago
4-f, 3-m

gy GF REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams

Sneha Dey 21 hours ago
3 male
4 female

gy GF REPLY

+ View reply from Mahendras : Online Videos For Govt. Exams
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Mohit.. 7 hours ago
Thank-you madam for today's very Amazing Class Session.. _ Nabanita De 3 hours ago
And H.W-Male-3,Female-4.Thank you ma'am.
My Answer f:?lr today's Homework is like- 4, G REPLY
D(-)<—=B(+)-

Read more Shubham jatwa 6 hours ago
UE q]j p E P. L'-,r.' ‘4‘[. CHTI
oy &R REPLY

debasish chakraborty 1 hour ago
Homework : £ Sneha Dey 8 hours ago
4 female 3 male "
Thank you sir. Awesome session.

3 male
4 female

@b &P REPLY @b GP  REPLY

Sonam Pundir 9 hours ago

Hw ans. Male~ 3

Female~4

Thank you mam for nice session v v

oy GF REPLY
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SR IC IR W SRR D <R S el Clll A family consists of seven members- A,

T I e ey aupeea—cell B, C, D, E, F, and G and two married
| n | couples. Cis the sister-in-law of G, vice
faodia (vice versa)l A, F & fadT 21 G, D #i1 |QR o e e e I A TR only

;2
\ 4

T T 21 B, C %7 &9 21 E 37 A 9rE-712 2 daughter of D. B is the father-in-law of C.
E and A are siblings. F is the niece of G. E
is unmarried. C has no siblings.

F, G #Ft w1t 21 E srfaattza 21 C &7 &g qre-92+
CELL
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E(+)— G(-)— A(+)

1

C(-)
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26) Who among the following is the mother of IE'
A.G B.C C.D D.E E.None of the above

Which of the following statement is true with
respect to E?

A.E and C are married couples

B.E is the son of C

C.E is the father of G

D.E is the brother-in-law of C

E.All are true

28)Four of five among the following are based on a
certain group. which one does not belong to the
group?

AB BC CG DD €EF
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29) Statement 29) T

Only a few Ellipse is Nonagon FAT T &l Zher (ellipse) T (nonagon) ¢

Tt A (nonagon) FRFTHS (rhombus)

% qHFqHS (rhombus) TFTTF (decagon) &
Aoy
. FTE A (nonagon) TFTTH (decagon) T2l 2

All Nonagon is Rhombus
Some Rhombus is Decagon
Conclusion

|. No Nonagon is Decagon

II. 7r+fY TFT7 (decagon) FHT T 1717 (nonagon)

ll. All Decagon can never be Nonagon
a) If Only conclusion | follows.

b) If Only conclusion Il follows.

c) If either conclusion | or |l follows.

d) If Neither conclusion | nor Il follows.

e) If both conclusions | and Il follow.
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30) Statements: 30) I

Some mouse is keyboard g HT3H (mouse) FTaTE (keyboard)

All keyboard is laptop ¥t Frars (keyboard) STEiT (laptop) 2

Only a few laptop is CPU FAT F 2 AT (laptop) Hdg (CPU) 2
Conclusions: Ao

. All keyboard can be CPU |. 7T Fr=re (keyboard) HT¥r (CPU) BT #d §

Il. Some mouse is laptop II. %= ATSH (mouse) W2 (laptop) &

A.Only conclusion Il follows A. FFe (Ao || AEeor F:7aT 2
B. Fae At | SIeor F7aT 8

C. Tt e | 377 || STEer F:3d &
DT &7 Aot | =T || S Far 8
E.7 a1 fAe | 3fi 7 21 |l srqaeor F7ar 8

B.Only conclusion | follows
C.Both conclusion | and Il follow
D .Either conclusion | or |l follows

E.Neither conclusion | nor |l follows
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31) Statements:

Only tablet is mobile

Some tablet is laptop

Only a few laptop is computer
Conclusions:

|. Some laptop can be mobile

Il. Some laptop is not computer
A.Only conclusion | follows
B.Only conclusion Il follows
C.Neither conclusion | nor |l follows
D.Either conclusion | or Il follows

E.Both conclusion | and |l follow

™ at 11:30 AM

31) FI:

Fad caie (tablet) T AraTZ (mobile) g

T% ca<1e (tablet) 7T (laptop) @

FAT T a1 97 (laptop) FI=T (computer) g
Ao

|. T AT (laptop) HIETZ (mobile) BT T 2
. T A7=(T (laptop) < (computer) &1 &
A. Fae Ao | e Fear 2

B. Faer e || sreor #ear 2

C. 7 a1 fAmad | 3w 7 2 || Aqaeor Fvar 2

D7 |7 fAea | =T || S F7ar 8
E. a1 Ao | 37 || s/aor F7d 8
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Only a few Mouse is Bat 32) FA9

No Bat is Cow FAA T 2l 9139 (mouse) < (bat) &

Some Cow is Goat F1E 92 (bat) FT3 (cow) 7=l 2
Conclusion % FT3 (cow) e (goat) &

|. Some Goat is Mouse Ao
|. = e (goat) ATSH (mouse) 2

|I. Tr+fY e (goat) F &= (bat) 219 FT HATAAT 2
a) 7% Faer Ao | SAETT FaT 2

b) =% Fae Ao || S E<or Far 2|

c) 7% =T a1 AT | 37 || AE<or F7aT 2

Il. All Goat being Bat is a possibility
a) If Only conclusion | follows.
b) If Only conclusion Il follows.
c) If either conclusion | or |l follows.

d) If Neither conclusion | nor Il follows.

e) If both conclusions | and Il follow. d) afe 7 a7 Ao | 3T 7 27 1| e FTar 2|
e) 7= ekt | 3% Il Z=T ATHALOT FLd 2|
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m%PQRSTWUWﬁw¢%

- IIT'—?HT— AU, /L AT S FT 2T SAIT-3TT

fafa=i 21 91 15 a1 18 T AHAR § 9N o 77
T, Q & a1 ARFAT T2 9T &4 21 Q, Hai #¥
farowr #eaT Freft AT F 9T AT 21 T 7 I8 AT
o ATl SRAT Fr Tedr, U F a1 9T o 9Tl
TR T T=AT & A 21 S, P & Tkt T2l AT

AaT 21 R, T 3 A9 ST a1 <17 2|

Six persons-P,Q, R, S, T, and U are
attending the seminar on two different
dates either 15 or 18 of three different
months- April, May, and June of the same
year. All the information is not necessarily
in the same order. T attends two persons
before Q. Q attends on the odd number
date of the month. The number of
persons attends before T is the same as
the number of persons attend after U. S
attends immediately before P. R does not
attend adjacent to T.
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Six persons-P,Q, R, S, T, and U are
attending the seminar on two different
dates either 15 or 18 of three different
months- April, May, and June of the same
year. All the information is not necessarily
in the same order. T attends two persons
before Q. Q attends on the odd number
date of the month. The number of
persons attends before T is the same as
the number of persons attend after U. S
attends immediately before P. R does not
attend adjacent to T.
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Month with Date
April 15
April 18
May 15

May 18

June 15
June 18

Person

33) Who among the following attends immediately
before R?
a)Sb)Pc)Td)Ue)Q

34) Who among the following person attends on April
15th?
a)Rb)Uc)Td)Pe)S

35) Which of the following statement is/are true?

I. T attends on an even number date

1.Q attends immediately before S

lll. P and T attend on different months

IV. S attends in the month which has an even number of
days

a) Onlylandlll b) Only lll and IV c) Only Il and Il
d) Only Il and IV e) None of these
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s o

e o
EXC R

36) On which of the following month and date does U att:n?
the seminar?

afef@a & @ 9 #da 3k adi #F vAREIR &
$TTeT oidT 872
a) June 15 b) June 18 c) May 15 d) May 18 e) April 15

37) How many persons are attending the seminar’after T?
TH a1 fhas afFa AFER & smr & @ 872

a) One b) Two c) Three d) Four e) None
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38) If all the letters of the word “BROWNIE” are arranged in
alphabetical order from the left end, then which of the following letter

is second from the right end?

af& e “BROWNIE” & Waft 3r&aRY A 91¢ 8K & qUlefshA A
sqafeyd fFar oar &, @ Peafai@a & & FiF a7 7R o
BR ¥ g T W g7

a)O b)R ¢)N d)E e)W
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39) How many pairs of digits are there in the number “3614729” each of which has as
many digits between them in the number as in the number series? (Both Forward and
Backward direction)

HEAT “3614729" A IR F WO fFaad goA &, T A v+ & g 3aa &
3% § T aean s@en & §2 (3 K S Qe fem)

a) Six b) Seven c) Five d) More than seven e) Four
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40) In a certain code language, If “FRIED” is written as “ QEJCF” and “PLANT” is
written as “KOBSM”, Then how is “SHOWN” will be written in that code language?

vs fAfRaa fe #mr A, afy “FRIED” T “QEICF” for@T STaT § 3R “PLANT”
“kOBSM” For@T STaT &, o 3HY F1T HT9T I “SHOWN” FT Ha for@r ST

a) HSPMV b) GRPMV c) GRPOV d) TGPMX e) TRPMX
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40) In a certain code language, If “FRIED” is written as “ QEJCF” and “PLANT” is
written as “KOBSM”, Then how is “SHOWN” will be written in that code language?

vs fAfRaa fe #mr A, afy “FRIED” T “QEICF” for@T STaT § 3R “PLANT”
“kOBSM” For@T STaT &, o 3HY F1T HT9T I “SHOWN” FT Ha for@r ST

a) HSPMV b) GRPMV c) GRPOV d) TGPMX e) TRPMX
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Roop is father of Geet and Meet is mother of Roop. Tony is sister of Tanu whose
daughter is Soni. Kanu, the husband of Meet is the grandfather of Soni. Moni is father
of Tony and brother of Preet. Kanu has only two children, both of opposite gender.

T, ?ﬁﬂmﬁm%aﬁttﬁﬁwaﬁm%laﬁaﬂaﬁm%mﬂﬁ
gt §1 AT & afd w7 @ F grer 81 A, e & Rar 3k g & g
%Im?ﬁﬂa’ra—&% gt faadia foer & 81

Relationship between which of the following two persons cannot be determined?
frafaf@a & @ & or afFad & v g9u AU a8 Far ST gFar 2
A. Soni-Tony
B. Roop — Tanu
C. Geet — Kanu
D. Moni — Tony
E. None of them
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If Sona is the sister in law of Tanu then how is Tony related to Geet?

afe AT o Y el § v el @ dfta @ FT HWaer @7

A. Sister

B. Aunt

C. Daughter

D. Mother

E. Can’t be determined
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er the questions based on the information given below.

SBI PO, SBI Clerk, IBPS PO, IBPS Clerk, RRB PO, RRB Clerk, LIC, and RBI are
conducting their exam on different months- September, October, November and
December on different dates either 10t or 19th of the month of the year 2020. All the
information is not necessarily in the same order.

IBPS PO exam conducted on 10t November.Not more than one exam conducted
between LIC and SBI Clerk. RRB Clerk and RRB PO are not conducted in the same
month. RRB clerk has conducted two exams before the exam which is immediately after
RRB PO exam .SBI PO conducted on even number date. LIC conducts after SBI Clerk.
Two exams are conducted between IBPS PO and RBI. IBPS clerk has conducted just
before or after the RBI exam.

THAITE 31T, T3S Forh, MSaIdiod N3, 3rSddivd Feleh, TG 931, MR Folch, TANTSHT
3R 3R reeT-37e79T ADAT A 3= qdiaT AT X W@ §- RaR, Iragay, Faa 30K Rfaa: srer-
37197 ATREY UR AT Y FTer F ALY Y 10 AT 19 TG Y| 2020 T ATAFRY T & HH & w0 781 B
arsefrdieg di3it afiet 10 AR F AT F 7S oA TS AR THANTE FAF & e vE @ AfAE
8T AT o761 31 1S ot | IR Foaeh 3R IR N3 T & JLl & 3o 161 fFve s g
I Ferdh oF THET ¥ Tger &Y 91810 A fora Y § i s diat adat & qia 15 gidl §1 vaaisns
3 T =T A I AT Y ST ¥ vHA3TE Feorh F a1 TS NG FIaAT §1 IS
ﬁaﬁﬁ;ﬁtmagﬁgaawmmﬁaaﬁm%lmﬁaﬁﬁwm#mm@Qﬁm#mmm
91 & 3o |
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Answer the questions based on the information glven‘ .l
below.

SBI PO, SBI Clerk, IBPS PO, IBPS Clerk, RRB
PO, RRB Clerk, LIC, and RBI are conducting
their exam on different months- September,
October, November and December on different
dates either 10th or 19th of the month of the
year 2020. All the information is not
necessarily in the same order.

IBPS PO exam conducted on

10t November.Not more than one exam
conducted between LIC and SBI Clerk. RRB
Clerk and RRB PO are not conducted in the
same month. RRB clerk has conducted two
exams before the exam which is immediately
after RRB PO exam .SBI PO conducted on even
number date. LIC conducts after SBI Clerk.
Two exams are conducted between IBPS PO
and RBI. IBPS clerk has conducted just before
or after the RBI exam.
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Which of the following month and date LIC exam conducted?
A.October 10th

B.October 19th =

ptember 10 SBI PO
C.September 10th S
D.November 19th eptember

E.None of the above October 10 RRB PO

October 19 SBI Clerk

November 10
November 19
December 10
December 19
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Four of the following are alike in a certain way and hence form a
group. Which of the following one does not belong to the group?
A.Exam which is immediately before RRB Clerk

B.Exam which is Immediately beforeSBI Clerk

C.IBPS Clerk
D.Exam which is Immediately after LIC
Sl

October 10 RRB PO
October 19 SBI Clerk

November 10 IBPS PO

November 19

December 10 IBPS Clerk
December 19
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Which of the following statement is/are true?

A.LIC exam conducted immediately before IBPS Clerk
B.RRB PO Conducted immediately after RBI

C.Only one exam conducted between RRB PO and LIC
D.RRB Clerk is the last exam

E-None of these

September 19 RRB Clerk
October 10 RRB PO
October 19 SBI Clerk
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Which of the following exam is conducted between RBI and IBPS PO?
A.LIC

B.RRB Clerk

C.RRB PO September 10
D.IBPS Clerk September 19

E.Both a and d October 10

November 10
November 19
December 10
December 19
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How many exams are between SBI PO and SBI Clerk?
A.As many as conducted before RRB clerk

B.Four

C.As many as conducted between LIC and RRB PO.
D.One

E.None of these September 10

September 19 RRB Clerk
October 10 RRB PO
October 19 SBI Clerk

November 10
November 19
December 10
December 19
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In each of the following questions, the relationship between different
elements is shown in the statements followed by five conclusions. Find a
true conclusion.

Statements:
G=2M>T=S>P; V<T>N=2Q;

Conclusions:
A.P>M

B.G>Q

C.S<V

D.N >V

E.None of the above
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In each of the following questions, the relationship between different
elements is shown in the statements followed by five conclusions. Find a
true conclusion

Statements:

R=2ZK=2M=P; T<Z>S<P
Conclusions:

AT <M

B.Z < K

C.R=S

D.Z =R

E.None is true
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Pointing to the lady in the photograph, Mrinalini said, “Her son’s father is
the only son-in-law of my mother”. How is Mrinalini related to the lady.

Wﬁ#ﬁ%maﬁmﬁg&mmﬁmmﬁ:ﬁ#w --maéa;
ﬁmﬁﬁm#swﬁﬁm%‘lmnﬁﬁrmwmﬁwm%?

a) Sister

b) Mother

c) Cousin

d) Aunt

e) Sister or self
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g ik A g RIi FT v aRar ¢,
o et Afgee 3k & fAafRa a2
IRER & YA+ IiFd & v Ir ay el ar
ATT-RAT H A F1S iy shfga i gl

d7 Fr oy g Ar AT B

fem siREfRa afeerel

d Y AT FT HIS HTE-9g el o

ST fora) T g & S &Y a<at hr AT ¢
ST 39 Y EEY § S 9T 7 7l B

Eight persons — Joy, Raj, Sam, Pal, Abymg,
Dev and Tia consists of a family of three
generations such that there are three
females and two married couples in the
family. For every person of the family either
both or none of the parents are alive.

Sam's sister in law is mother of Dev.

Tia is an unmarried female.

Dev's mother doesn't have any siblings.

Joy is father in law of Neo who is mother of
two children.

Raj is grandmother of Dev who is nephew of
Pal.
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Eight persons — Joy, Raj, Sam, Pal, Abymg,
Dev and Tia consists of a family of three
generations such that there are three
females and two married couples in the
family. For every person of the family either
both or none of the parents are alive.

Sam's sister in law is mother of Dev.

Tia is an unmarried female.

Dev's mother doesn't have any siblings.

Joy is father in law of Neo who is mother of
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Raj is grandmother of Dev who is nephew of
Pal.
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How is Sam related to Raj?

dA, Uo7 § FA 9T 8?2

A Daughter
B Son in law
C Son { Pali Sam‘iAby._‘v Neo |
D Husband i
E Wife {Dev: Tla ]
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How Is Neo related to Pal?

o, o @ FE veR geafda g7

A Sister In law
B Mother in law
C Wife

{ Pali Sam‘iAby._‘v Neo |

D Daughter in law |
E Brother in law (Dev Tia )
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There are 8 members D,E,F,G H,I,Jand K in a family which consist§}
of only two married couples. There is no single parent in the family. I

iIs married daughter of J, who has two children. J is the sister-in-law of

H. E is the only child of F. G is the sister-in-law of grandfather of E. D is

younger than K, who doesn’t have sister.

WmﬂﬁstEFGHljsﬁTK% SEA Faad 1 Rafed 2 & IRar &
& fY Arar-far &t & 1, ) H RaRa ¢ & 59 @ 5= &1 J, H A Rre-ga-ar 8
E, F Y sHaldt Ga B G, E¥ ST Y feet-sA-ar &1 D, K¥ o ¥, forwd ageT AdT

q
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How is E related to the fathelj gf D?
E, D& [Oar ¥ 59 R &g g7

G(-)—J(-)==K(+)—H(+)
A.Granddaughter |
B.Daughter D(+/-) I(-) F(+)
C.Son ‘

D.Nephew E(+/-)
E.Can’t be determined
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If F doesn’t have brother in law, how is D related to sister in law of H?

Ife F &7 9T 81 T oTaf &, af D, H i AT 57 of ¥ 5T v gafeq g2

A.Sister

B.Daughter G(-)—J(-)==K(+)—H(+)
C.Mother |

D.Sister in law D(+/-) I(-) F(+)

E.Can’t be determined

E(+/-)



http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ “

How many male members are there in the family?

IRER & fFda Y FeET 82

A.Two G(-)—1()==K(+)—H(+)
B.Three |

C.Four D(+/-)—1(-)===F(+)

D.Can’t be determined l(,,/-,
E.None of these
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Statement: —

NoAisC. FrEA C T &

Only O are B. F9 O, B &

Alone C are O, @ C, O 2l

Conclusions: farse': ﬂ | |
I. Some B being A is a possibility. . & B FT A BT UF HA1ET 2|
IL, Some O are A. I %= O, A B

01. Ifonly conclusion I follows. 02, If only conclusion II follows.
03. If either conclusion I or IT follows. 04. If neither conclusion I nor IT follows.
0S. Ifboth conclusions I and 11 follow.
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Statement: FAT:

Few B are X. 3;:@]3;}(@
Some B are not V. % B, VAE 2l

AllVareY. et Vv, Y £l
Conclusions: ey

I. SomeBare Y. L% ]3 Y 8

II.No Y is B. ILFEY,BI &

01. If only conclusion I follows. 02. If only conclusion II follows.
03. Ifeither conclusion I or II follows. 04. If neither conclusion I nor II follows.
05. Ifboth conclusions I and II follow.
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Statement:

Only few P are C.
Some C are Q.
Alone Q are E.
Conclusions:

I. AllPcanbeE.
I1. All Q can be C.

01. Ifonly conclusion I follows.

03. Ifeither conclusion I or II follows.

0S. Ifboth conclusions I and II follow.

™ at 11:30 AM

-

9 %3 P 21 C 2l
%% C, Q7
FFaT Q. E 2|
IGAEDF

[ @+t P, E 27 9T 2|

[ 7T Q. C 2T {7 2

02. Ifonly conclusion II follows.

04. [fneither conclusion I nor II follows.
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it is possible to make one meaningful word with the second, the third, th
sixth and the eight letters of the word FRAGMENT, using each letter only
once, then which of the following will be the third of that word ? If no such
word can be formed, give ‘X' as the answer and if more than one such words
con be formed; then give ‘y’ as the answer

gf¢ FRAGMENT 2s¢ & &Y, dliy, B0 3R 3115 3eRT & Ueh AUl Asq
IATAT AT g, I 378X &l hdd Ueh dF JIET dhlch, dl HFATelidd H
q iT TT 3T AsE T T 8?2 Ife VAT IS e Agl SATAT ST Fehel
g,ﬁW'X'éﬁTaﬁWﬁm@%M SAd g, A3 HF T H Y

(1)A
(2) E
3T
(4) X
(5)Y
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How many such pairs of letters are there in the word '"CORPORATE', which
have as many letters between them in the word as there are, in the
English alphabet between the same letters in sequence?

A 'CORPORATE' # &I & ¥ fhdal s &, et o g &
3de & &Y g forder s IotATar A FAT e & i 7 &

272

NONE

ONE

TWO

. THREE

MORE THAN THREE

mooO >
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e people are sitting in two parallel rows containing six people each, in such a way that
there is an equal distance between adjacent persons. In row-1J, K, L, M, N and O are seated and
all of them are facing south. In row-2 U, V, W, X, Yand Z are seated and all of them are facing
north. Therefore, in the given seating arrangement each member seated in a row faces another
member of the other row. M sits third to right of K. Either M or K sits at an extreme end of the
line. The one who faces K sits second to right of Y. Two people sit between V and Z. Neither V nor
Z sits at an extreme end of the line. The immediate neighbour of V faces the person who sits
third to left of J. L and N are immediate neighbours of each other. W sits second to the left of U.
N does not face the immediate neighbour of X. dg gfFd & AR 9foaar # 93« A
B¢ AfFd 30 YR 48 § F smdew safFaat & fiw gaer gt 81 9fFa-1 & 4,k LM,
N3 oS § 3R 37 weft &1 7@ gfaror #ir 3T 81 9FT-2 A U, v, W, X, Yand 23S §
AR 3 wsft 1 A 3T A AN T sufAT, & 7% doF HIEAr F vw 9fFq A R
Y% W F G qfFd & Hed FeET $T 3T T M, KF e § Y sy )
dor g1 I @t maT K & Jfad s W a1 gl
&Y safFa 4% ¥
34

2
%%3
A

& e & TATH 9T So1 81 VIR z& #Aey
gfed & 3 BR W 388 & vF RAFecad =10 &1 7@

9

Y T 9T S997 . LR NTH @Y & fAdedd v 8 W uF
T W 43T 81 N, X F fdmeas asilt & 3R 3779 18 3l

9

i
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Twelve people are sitting in two parallel rows‘ |'

containing six people each, in such a way that
there is an equal distance between adjacent
persons. Inrow-1J, K, L, M, N and O are seated
and all of them are facing south. In row-2 U, V,
W, X, Yand Z are seated and all of them are
facing north. Therefore, in the given seating
arrangement each member seated in a row
faces another member of the other row. M sits
third to right of K. Either M or K sits at an
extreme end of the line. The one who faces K
sits second to right of Y. Two people sit between
V and Z. Neither V nor Z sits at an extreme end
of the line. The immediate neighbour of V faces
the person who sits third to left of J. Land N are
immediate neighbours of each other. W sits
second to the left of U. N does not face the
immediate neighbour of X.
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N faces the person, who is the immediate neighbour of
N ST q@ 3 qfad $T 3T 3, s &1 [Awead T4 ¢
a)U

b) X

c) Both Uand V

d)Vv

e)Z



http://www.mahendras.org/

SBI CLERK 2022 / /@mat 11:30 AM/ 0

Which of the following person sits immediate right of X?
fArfaf@a & @ si9 a1 FFd X & SF g a7 872
a) No one sitting

b) V

c) Y

d) U

e) W
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Which of the following statement is false?
a) N sits second to the right of K

b) L sits immediate right of N

c) W:ssits at one of the extreme ends

d) U sits immediate right of Z

e) All the options are true

frafafea & 4 Fla a1 Fya 3wca 82
a) N,K.¥ g @G T WAST ¢
b) LN.FNF ST 3T

c) Wirfltw I SRR doTe

d U zZ.&FAFcA TR

e) M RAFecT TR
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